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[image: image2.png]Some doors are buildings.
All buildings are cages.
Conclusions:
1. Some cages are doors
11 Some buildings are windows.
Statements:
15. Some chairs are rooms.
All rooms are trees.
Alltrees are poles.
Conclusions:
L Some poles are chairs
1L Some trees are chairs.

Q. 16:20. Study the following arrangement carefully
and answer the questions given below:
GM5ID#JKEZPTAW%AF3USSNV6Q@
THIOBI*Z
16. Four of the following five are alike in a certain
way based on their positions in the above arrangement
and 50 form a group. Which is the one that does not
belong to that group?
MmpJ1 @FUA
@WB*x© ()¢5
17. What should come in place of the question
mark (7) in the following series based on the above

@H@1

ammangement?
DJK 2T4 %F3 ?
musv @USN 38NV
@8NI1 (5) None of these.

18. How many such numbers are there in the above.
arrangement, each of which is immediately preceded by
a vowel and also immediately followed by a symbol?

(1) None (2)0ne 3)Two

(@) Three  (5) More than three

19. How many such consonants are there in the
above arrangement, each of which is immediately
preceded by a number but not immediately followed by
a consonant?

(1) None @)0ne 3Two

(@) Three  (5) More than three

20, Which of the following is the fourth to the right
of the welfth from the right end of the above

arrangement?
ms @7 @K
@A (5) None of these.

Q 2125, Study the following information
carefully and answer the questions given below:

A B,C, D, EF, G and H are sitting around a circle
facing at the centre. Fis third to the right of B who is
third to the right of H. A is third t0 the left of . C is
fourth to the left of A. Eis third to the right of D who is
ot a neighbour of A

2%.In which of the following pairs the second
‘person s to the immediate right of the first person?

(mHc @B 368
@FA

(5)None of these

22.Who is second to the right of D7

MF @6 @A
(4) Data inadequate.

(5)None of these

23, Who s third to the left of G7
WmH @D e
@F (5) None of these.
24, Who is fourth to the left of C7
OF @A BE
(4) Data inadequate.

(5) None of these

28. What is B's position with respect to D?
(1) Fourth to the right

(2)Fourth t0 the left

(3)Fifth to the left

(@) Fifth t0 the right

WA only

(@)(8) only

(3)() and (B) only

(@)(C) and (D) only

(5) None of these

Q.26:30. In each question below is given a group
of letters followed by four combinations of
digits/symbols numbered (1), 2),(3) and (4). You have.
to find out which of the combinations correctly
represents the group of ltters based on the following.
coding system and mark the number of that
combinaton as the answer. If none of the four
combinationscorrectly represents the group of
letters, mark (5) ie. ‘None of these' as the answer.
Letter PMAKTIJERNDFUWB
Digit/Symbol 7 # 8 % 192 @3©54 %56
Conditions:

() 1 both the first and the last leters of the group
are consonants, both are to be coded as the
code for the last letter

(i) If the first letter is a consonant and the last
letter is a vowel, the codes are to be inter
changed.

26, BDATFE:

(1688146

(2/6814@

(3)@s814@

(4) @S8146

(5) None of these

27, AWBRND:

(15563¢8

(21856305

(3836505

(4) 853605

(5)None of these
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T.(2)Write the Tetters in reverse order. The code for —— 26.()  27.2)  28.0)  29.05)  30.6)
1st, 3rd and 5th letters is the preceding letter For solving the next type of questions, (31-35)
and for 2nd and 4th, the nex letter decode the symbols.

DROWN ~NWORD BREAK  KAERB P@Q PIQ PXQ P<Q P'Q P=Q
MKNSC JBDSA POQ P<Q PSQ P>Q

2.GMTDRN 3LWR > M M<F F <]

3.2)3 only. 2.QM <D DK K=N

4@EFGHITK 33.@)B 2D D> M M= N

5.GNNS[UHGZ 34WE>W, Wel 2N

6.(5) Others are parts of tree. BWF<T T<R R>W

7.5) Al the others grow below the surface. 36.Q) 37.0) B 9.0 40.0)

8 (4 PALE, LEAP, PEAL
9.(5)Itis a perfect square. (8)
10.6)Cand A and Rand 5.
Use Ve diagrans for sohing the next set of
auestions.

wo (+ (09

o @@ ‘

&l
N0i0
aD)

15.(8)

16.0) 1200 180 196 200

21.0) ML

22.6) pla) )
2.) c) A
4.2 L R
25.3) (E) ~@) »




[image: image5.png]1.1na certain code DATE is written as #%@ and
STYLE is written as *$©1@. How is DELAY written in
that code?
@i @) resu
(@) #51%0  (5) None of these
2.Ina certain code DETAIL is written as BIMUFE
How is SUBMIT written in that code?
(UIWCVT @) NJUCVT
(@ UNTVC ~ (5) None of these
.11 it is possible o make only one meaningful
word from the second, the fourth, the sixth and the
ninth letters of the word PROACTIVE, using each letter
only once, second letter of that word is your answer. If
more than one word can be formed your answer is M
and if no such word can be formed your answer s N
ma @E @1
@M BN
4. How many such pairs of letters are there in
the word FOREHAND each of which have as many
letters between them in the word as they have in the.

@asue

@NUTVC

English alphabet?
(None  (2)One 3)Two
(@) Three ~(5) More than three:

5. Four of the following five are alike in a certain
way and so form a group. Which is the one that does
not belong to the group?

117 @31 @23

@13 G121

Q. 610, These questions are based on the
following arrangement. Study it carefully and
answer the questions that follow.

T6#1J1%LE3K9@AH7BOD2 USRA*8

6. Four of the following five are alike in a certain
way on the basis of their position in the above
arrangement and so form a group. Which is the one
that does not belong 1o the group?

[ @83

@) 7HB (5)Ras.

7. What will come in place of the question mark
(7) in the following series based on the above

(3)@9A

arrangement?
6l &3 9AH 7
(1yBe2 @7eD (378D
(@ BD2 (5)None o these

8.1 all the vowels are removed from the above.
arrangement which element will be shah 1o the right
of fourth element from the left?

mo @K @3

@we (5) None of these

9.How many such symbols are there in the
above arrangement each of which is immediately
preceded by a number?

(None  (20me 3Two

(@) Three  (5) More than three

10, Which element is fifth to the right of eleventh
from the right end?

ms @u @n

@3 (5) None of these

Q 1115 In each question below are three
statements followed by two conclusions numbered I
and IL You have to take the three given statements
101be true even f they seem to be at variance from
commonly known facts and then decide which of
the given conclusions logically follows from the
three statements disregarding commonly. known
facts. Give answer:

(1) only conclusion I follows.

(2)if only conclusion I ollows

@)if either conclusion I or conclusion I follows.

{@)1f neither conclusion I nor conclusion I

Tollows:

()i both conclusions | and If folow.
Statemens

10 Allaps are wells.

Some wells are canals:
Al canals are rivers.
Conclusions:
L Some rivers are taps.
1L Some wells are ivers.
Statements:

12. Some fles are papers:
Some papers are books
Allbooks are journals.

Conclusions:
L Some papers are journals
1L Some fils are journals.
Statemens:

13, Some apples are grapes.
Some grapes are mangoes.
Nomango is guava.

Conclusions:
1 Some guavas are apples.
1L Noguava is apple




[image: image6.png]Statements:
14, Some computers are screens.
Some screens are movies
Some movies are scripts.
Conclusions:
1 Some computers are movies:
1L Some screens are scripts
Statements:
15, All pearls are gems.
All gems are diamonds.
All corals are gems.
Conclusions:
L Al pearls are diamonds.
1L All corals are diamonds.

Q. 16:20. In the following questions symbols @, #,
% § andk are used with different meanings as
follows:

‘A@ B means ‘A is not smaller than B.

‘A # B means ‘A is neither smaller than nor equal

0B

*A%B’ means ‘A is neither smaller than nor greater

than B

*AS B means A is not greater than B.

"A%B’ means ‘A is neither greater than nor equal to

B‘

In each of the following questions assuming the
given statements to be true, find out which of the two
conclusions I and I given below them is/are definitely
true. Give answer.

(1)if only conclusion 1 s true.

(2)if only conclusion Il is true.

(3)if either conclusion I or conclusion 1 is true.

{4)if either conclusion I nor conclusion 1 is true.

(5)if both conclusions | and If are true.

Statements:

16.TGY, VEM M%F

Conclusions:
LT#M

L T@F
Statements:

VLLSN N*E RSL
Conclusions:

LF4R
L RSN
Statements:

8L 10 ISP

Conclusions:
LH#)

L H#P
Statements:

19.L%D, D#K KSJ
Conclusions:

LL*K
L Ds)

Statements:
20.QSW, W%E E@K
Conclusions:
L QsK
L WeK

Q 21-25. In each of the following questions a

group of letters is given followed by four
combinations of digits and symbols numbered (1), (2)
(3) and (). The letters are to be coded as per the
scheme and conditions given below. The serial
number of the combination that correctly represents.
the group of lettes is your answer. If none of the
combinations is correct your answer is (5) i.e. None of
these.
Letters:
Digit/
Symbolcode3 7% 4569 @ 125 ©8
Conclusions:

@) 1 the first leter in the group is a vowel and
the last leter s a consonant thelr codes are to
be interchanged

(i) 1f the first letter in the group is a consonant
and the last letter s a vowel both are 10 be
coded by the code for vowel.

(i) 1 the fist as well as the last leter s a vowel

both are to be coded by the code for first
letter:

HITKRFALEM] BQU

21. IRHME]
m31e2 @u3l@2 (73167
(4)2431@7  (5) None of these.

22. THKAR

()4S786%  (24S7I6L (3 %STHC
(4)%6¢74 (5) None of these.

23. MHEKQ

(mesazel @ 1321 (3130280
(4) ©382¢@ () None of these

24, FIKIRU

(1576918 (2574948 (3874948

(4876945 (5) None of these

25. ALFHE

(1)@95236 (2695236 (3 @9S239
(4695239 (5) None of these

Q. 2630, Study the following information
crefully to answer these questions.

Seven friends K. M, L, H, F, D and C are sitting
around a circle facing the centre. L is second to the right
of Hwhois to the immediate right of C. Mis third to the
left of D and to the immediate right of F.

26. Who is third 10 the left of 7

mL @K GF

(@KorF  (5)None of these

7. Which of the following pairs of persons
represents the neighbours of K?




[image: image7.wmf]
[image: image8.png]ANSWERS AND EXPLANATIONS

[ 16.0) 17,05
2.()RET A LL ALLTED hence SUBMIT - MITBUS. The  15.(1) 19.(1)
next Teiter T alphabet is the code, te. NJUC VT 20.05) 2.
3.(4) RATE and TEAR. 2.0) 23.)
Bl 2.0) 25.0)
5.(5) Others are prime murbers 1 fs divisible by 3 and 7.
6.6) 7.0 80) 9.6 100 26.02)
1nwls e BB o
ne & 193 B0
" 2.9 © o
30.04)
o D)
P o R S T U V
1@ c‘ﬂ.o Fro Hist Mahs Phy Bio Eng Py
Blue White Orange Red Green Bink Yellow
v (D TR
B0 34.)
5.0 36.(1)
159 oe 7.0 38.0)
39.0) 10.1)




